Machine Visibility

Volvo 5350

0=0.5m
Distances where

blind spots intersect
machine reference lines
A=4.9m

B=1.6m

Machine Reference Points
y = Machine Centre

x = 1st Rear Wheel Centre
w = 2nd Rear Wheel Centre

Area of blind spot
X at 1metre high
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Volvo 5350

O0=0.5m

Machine Reference Points
y = Machine Centre

x = 1st Rear Wheel Centre
w = 2nd Rear Wheel Centre
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Enhanced Visibility

Visibility through
convex mirror
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Comparison

Volvo 5350
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Machine Reference Points
y = Machine Centre

x = 1st Rear Wheel Centre
w = 2nd Rear Wheel Centre

Visibility through
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